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DO NOW

In AABC,m , C=90.1If AB=5 and AC =4 , which
statement is not true?

4
) cosd=7 3) sinB-

3 5
2) tand =7 @)D tanB = 3

Jan 25-10:25 AM

Sine and cosine are called "cofunctions"
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S LY = cos 2L

s LY = Sin LT
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byr22 =90
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If 24 and . B are the acute angles of a right triangle,
sin 4 = cos B
snyYD = cos 5D
©=40 sin@= cos(90 — F)— =" P\‘”‘f\ntﬁq
cos@ =sin(90—80)

1) In ARST, angle S is a right angle and sin R = 0.26. Find cos T.

ﬁ& sn K=o T
L
ST

2) Given: Right triangle 4ABC with right angle at C. If sin 4
increases, does cos B increase or decrease? Explain why.

ln DABC, <in A= cos® so id
SV A \Wnerea=>, o> B Mmust ol

',«\u(m')(

I
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3) Find the value of R that will make the equation
sin73° =cos R true when (° < R <90°. Explain your
answer.

°

m<iR = |7

75 o\nﬂ\z + Rawx comPU men Vh} 4-'5

4) If sin@" = cos(x + 24)°, find x.

57 38

SNA = Cos B

IX+10+ %424 = 20
Axxy 2490
Hx= 50
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5) Inright AABC, m , C=90° sin A =x+ 0.1 and
cos B=2x-0.4. Find x.

CinP-Coe B
X+, | =2ly—. 4

6) Which of the following statements 1s false?
, _ 30t 20+ 40
A) sin 45 = cos 45 sm 30 = cos 30
C) cos 10 =sin 80 D) sin 0 = cos 90
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